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EXPOMENTIAL GROWTH/DECAY: We learnad in previous lessons that exponential functions
can take on two forms, either growth, when o ls O eAIEY shar 1 or decay,
where bis MU and 1. v "
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y = final amount & = inftial amount b = growth/decay X = timeferinls

Example A: You are reading & novel where an entire 40 player baseball team become zombles,
ft is predicted that the number of zombies will triple each day, How many zoimbles will there

pe after & week {7 days)? \\j - Udﬁg

s B0() = §1400 tamiies |

Seems easy right, but you need to be careful with the variable b, baczuse that exa mple was @
mice clean whole number,

Example B: You bought a used car for $18,000. The value of the car will be less each year
hacause of depreciation, The car depreciates {loses value) et the rate of 12% per year. Wrile
an exponential decay model to represent the situation then use that model to estimate the

value of the car in 8 years. &
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DECAY:
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Example C: A train is going downhill at 140 mph. Suddendy the brake system fails and the train
begins picking up speed, going 11% Taster every minute. How fast will the {rain be golngin 5

inutes? S . =3
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Momework: Creating Equations In One Vaviable (Exponentiall Late

For each problem, write the known information, the unknown, gno an equation w0 mode! each
Soepario. TTheh snser each guadtdon. ‘

3. A populytion of inseCts doubies every inomth. 18 there are 100 ILects 10 start with,
- hods many uill theve be afrer 7 months? :

J=we (D) < g msects

2. Asock oses half ks value every week. I the SEOCK Was worth $125 Starting out, what
is it WOrth after & weeks at this rave of decine?

~d
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3. Acype oF baCrerls tv & Petrl dish doubles every hour, I there were 1,078,741.82¢
baCterla after 39 hours, how mahy Were there to Start with?

_ ~ M
1071274 924 = a(2)
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4. ANDUE S for § Fast £O0d restalivant gre 850,000 and are InCreasing at 8 rate of ¥R
pér year, What Wil sales be in 5 years?

\

5. The population oF 3 school is 8u0 students and I8 InCreasing #t a rave of 2% per year.
What will the popudetioh be n ¢ years?
4
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£ °Thevalue ofa Company's eguipment Iv $25,000 and deCreases zrt: & raee oF 15% taCh vear.
- What will the equipment be woreh afoey 8§ yearyy
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